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PART-A (F-9a)

Q. No.1(i-vi) m&j‘é}l mark each 1x6 = 6
Q. Nos. 2 (i- v@'@@(ﬁrﬂes 2 marks each o 2%6 =12
Q. Nos. 3 - 6:6arry 4 marks each "~ 4x4 =16
Q. No. 7 carries 6 marks 6x1 = 6

Total = 40

PART-B (% -9)

Q. No. 8 (i-vi) carries 1 mark each 1x6= 6
Q. Nos. 9 (i-vi) carries 2 marks each 2x6 =12
Q. Nos. 10 - 13 carry 4 marks each . 4x4 = 16
Q. No. 14 carries 6 marks 6x1= 6

Total = 40

Total (PART A & B): 40+40=80
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PART-A /354
1x6=6

1. Answer the following :

O]
(1)

(i1)

(1)

eeTeY Tl g

Define personal disposable income.

ors FCAISY ST e st
What is the primary objective of commercial bank ?

R @3 i Sy e

Net indirect taxes are estimated as —

- et Amm R R —

(iv)

€2))

(v1)
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(n) Indirect taxes + Subsidies
AF I + AYY

(b) Subsidies - Indirect taxes
R - AT I

(c) Indirect taxes - Subsidies
ATAF 9 - AQYY

(d) Both (b) and (¢)

(b) W= (c) T |
(Choose the correct option)
"~ | (5% R 51 1)
Give two exarx/@s of capital expenditure of the government budget
pIFIR HTC@%FI@ R 7o T et
What ty}% of budget should the government prepare during inflation ! ?
EFIH ST FAS 5 (AL ITET UFS e AN 2

In order to encourage investment in the economy, the central bank will
adopt which of the following measures ?

w4 Rz Befzs FRA AT @@ﬂ SHEAT @mmﬁw
9
(3) Increase cash reserve ratio
T FTTR S Jfa B
(b) Reduce cash reserve ratio

oI AT SIS A I

[2]
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(c) Increase bank rate

% 74 & T\
(1) None of the above
@9fET 1 T |
: (Choose the correct option)
(&% [w 9519 31)
2x6=12

2. Answer the following :

ST YRR TR T ¢

(i) A firm produces goods of Rs.500 per year and uses intermediate goods
of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
gross value addition and net value addition by the firm.

Q3 2D IR 500 BOR T2 Tesfw FE W% TR AR 250 5 o9
| VRS B IRTR I | U TR S AR 20 5 R, (ST Afwie
6 o AT A ST a7 FAarea sie a4 | |
OR /341

What do you understand by the problem-of double counting in the
context of national income accounting ?

STSI S 991 91 (7 sielmia Tt e 6 32

(1)~ Calculate national income with the following data.
CLERGRYE mﬁﬁ%’m SIS 3 |
GDP at ma\@ price : Rs.830 crore
S ‘fﬁ%@&%? \R&.830 IS
Depreciation: Rs.120 crore
R 2-Rsi120 (@I

Net indirect taxes : Rs.70 crore
[Fab »iars 31 3 Rs.70 @

Net factor income from abroad : Rs.40 crore
famit st e Teom Wi ¢ Rs.40 @S
OR/99q!

Ditferentiate between nominal GDP and real GDP.
SN2 GDP ©1=: #7€ GDP 3 9112/ 41 |
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(1) Write hwo objectives of government budget.
SaId) AGHA 757 S | _
(ir) Write two differences between revenue expenditure and capital
expenditure.
IR A W FLAN AT 57 AN faray
OR/@eq!
What is revenue receipt ? How it is different from capital receipt ?

3rerz e &2 3 e iR okl (e o2

(v)  What is deficit demand ? Write one cause of deficit demand.

Aot/ ifS bifawt (52 3ae Wby dRd S ||
OR /4]
What are the factors that affect investment demand in an economy ?
Yo Rt v sreiiie w41 T (@go! & 2
(vi)  Write two merits of fixed exchange rate.

2= R 2w 7oy R
OR/q%q!
Define spot and forward exchange rate.

fRfae siewlds 211 o Sgad) 2137 Hee e |

3. Explain the expenditure method of calculating national income.
o Wﬁmmw@%www:
S
N OR /%%t
N
Discuss the cir%@r flow of national income in a two sector economy.
Faxe TERoE TSR GIE BARe, 4AZ STl 31 |

4.  Discuss the functions of money.

IR TR A B |

5. There is a plan to increase national income from Rs.1500 crore to Rs.4000
crore. If MPC = 0.6, then what should be the change in investment to achieve

the goal ? ' 4
G2NS Q4T Greld oF Rs.1500 (6 5[ #id Rs.4000 (b Tritet 3w a1

AT T4 (R WWE MPC = 0.6 T, (% 92 THS TaAvI© 239 I fFam
oifastier wgw AR eraea 292
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. OR /5t
What is ma rginal propensity to consume (MPC) and marginal propensity to

Save (MPS) ? Show that MPC+MPS=1 1+1+2=4
TSI 2RFS! (MPC) wirae oiiftsas Heny e (MPS) f&? ayeal 1
MPC+Mps=1 |
6.  Outline how cquilibrium exchange rate is determined in free market system,
4
Wwamwﬁﬁwmﬁﬁaq AFAICT! 53yt foran |
_ OR /@<t
Write a note on ‘balance of payment’.
IR0 Trers Rarm o (BTt faran |
7. Discuss the working of investment multiplier with example. 6
RRGIEE T e R S ————
. OR/5e3
- Explain diagrammatically how equilibrium level of employment and income
1 determined in a two sector economy with the concept of aggregate demand
and aggregate supply.

o Y 1A S1e AR el 4R FYIAS RTIHCR S ST
mﬁmmmﬁﬁqaﬁaﬁﬁmwws

PART-B / 4-=o=
8. Answer the followting
TR AR TGS Ty
()  Whatis poverty line ?
Hiiew Arica &
(i) Name anytwo Navaratna industries.
RicIcsY 751 7995 Sraptera A fra |
(1) Who is known as the architect of economic planning in India ?
SIS ALAOF A et 31 e o A 2
(tv) What do you understand by jobless growth ?
i Tam 3feee & 3o
(v)  Name fwo unconventional sources of energy.

“Ifea 751 Soiaoaee Tesa A |

1x6=6
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(vi) Which of the following is a cause of ozone layer depletion ?
OHR (IO W& B FAL €51 PRV 2

(@) Noise pollution / *% 2qZ
(b)) Air pollution / g s
(c) Water pollution / @& &34
(d) None of the above / €791 GBI gy
(Choose the correct aption)

(o7 [Few [E19 291)

9.  Answer the following : - 2x6=12

OETq PR O i ¢

(i)  Write two objectives behind infrastructure development in India by the
British government during Colonial rule.
BT I TS BRI SrReae st Saam TR 75 07D
fe=n

(i) Write two objectives of NITI Aayog.
NITI SR 757 Sy i |

OR /=441

Write fwo factors that necessitates the introduction of economic reform
in India.

IO SR L EACRIQUES AR ATATA TSI 7o I frall |
(iii) Correctly match Q@é two sides of the following table :
Lo Eﬁwﬁm S WAL (WA 3

Country QQQ Rank Based on Human Development Index 2022
(M S 2022 54 TR T {53 fefes g

India/®i¥® 79

* China/5W 129
Pakistan/ AT&EH 132
Bangladesh /3R 161

(iv) Write the full from of AYUSH.
AYUSH 3 5oif @ {1l |
- OR/S941
What do you understand by medical tourism ?
‘Bt oo Ifere & g e
33T ECON - [6]
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10.

11

12.

13.

14.

(v)  Writeone positive :
a - o .
ECOnomY‘p ndone negative impact of globalisation in the Indian

v1) Write :
. (vi) rite fwo differences between formal and informal sources of rural

- T?“ﬁ%ﬁﬁ%%%ﬂm 7oy =iefe faay
Hte the teatures of the Induystria] Policy, 1956
1956%%%%%%% A 4

Briefly discus : .
refor I}I: pesriods, the problems faced by the Indian agriculture sector in pre-

SO ARTOR 57357 320 et @ <1 |
Write a note On condition of health infra'-strucmre in India. 4
SRS WY st s Ragm af e B

OR/Gq9q|

What is workforce ? Write the causes of low workforce participation rate of
female as compared to male. 1+3=4

W%?WWWWWWﬂwmﬁE (R BRI feiet |

Writ'e a comparative notefon the contribution of agriculture, industry and
S€TVice sectors to the sespective economies of India, China and Pakistan. 4

OIS, 5T SR AR LRI (PR 8, 01| e Tt SR SIRCDRT
R 9B SIS (Bl 24 T |
OR/9%3y

Briefly describe the path of economic development of China.
Sive S IR AR R vt 3o 1 |

How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India? 3+3=6

AR AR 9IS T TATR 4Rl R 1o 3t 4@t 72 oiaes wwe e

SR AL ATITR o7 | |
| OR/G%at
Discuss how agricultural activities can be diversified.

Pl (o fomgdl/ ivasd i 1 s #=i
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